SItS Instrukcja montazu Montageanleitung
— comfortable Ife Assembling Instruction  [instruction de montage LUCA

33

B Ee == =50l

0T 1 I 1 I 0T T b

strona/page/Seite 2 |
A1 no 109
L pm—
3 WW M8x80 $30x2
A x1 B x1
strona/page/Seite 2 |
B1 no 195
$30x2
/ B x1
$32
strona/page/Seite 3 |
C1 no 47
o
£, o @
3 { M8x25 8,5%22
140 C x2 D x2
strona/page/Seite 3 |
D1 no 145A
09))) BESEY,
o M8x25 8,5x22
(9]
o C x3 D x3
025
strona/page/Seite 4 | strona/page/Seite 4 |
E1] nof2 F1| no47B
£ ® =
o Q U, 08
= $30x2 $45x3 M8x25 8,5x22
Bx1 Ex1 Cx1 Dxi1 1

2023-04



2

2023-04



@ <=

M8x25 8,5x22

C x8 D x8

@ <

M8x25 8,5%22
Cx12 Dx12

3

2023-04



O-&

4

2023-04




2023-04



Zachowaj instrukcje / Please keep instructions / Bewahren Sie die Anleitung / Merci de garder linstruction

6

SITS Sp.z 0.0., ul.Sikorskiego 60, 87-300 Brodnica, POLAND

2023-04




